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gm_mÝ` {ZX}e : 

(i) Bg àíZ-nÌ _| nm±M IÊS> h¢ : A, ~, g, X VWm ` &   

(ii) IÊS> A _| 1 A§H$ dmbo àíZ 1 go 8 VH$ h¢ & {OZH$m CÎma EH$ eãX AWdm EH$ dmŠ` _| hmo & 

(iii) IÊS> ~ _| 3 A§H$ dmbo àíZ 9 go 13 VH$ h¢ & {OZH$m CÎma 50 – 75 eãXm§o _| hmo & 

(iv) IÊS> g _| 4 A§H$ dmbo àíZ 14 go 19  VH$ h¢ & {OZH$m CÎma bJ^J 120 eãXm§o _| hmo & 

(v) IÊS> X _| 5 A§H$ dmbo àíZ 20 go 22 VH$ h¢ & {OZH$m CÎma bJ^J 150 eãXm§o _| hmo & 

(vi) IÊS> ` _| 6 A§H$ dmbo àíZ 23 go 25 VH$ h¢ & {OZH$m CÎma bJ^J 200 eãXm§o _| hmo & 

(vii) àíZ-nÌ _| H$moB© g_J«-M`Z-{dH$ën CnbãY Zht h¡, VWm{n EH$ A§H$ dmbo 3 n«íZm| _§o, VrZ 
A§H$ dmbo 2 n«íZm| _§o, Mma A§H$ dmbo 2 n«íZm| _§o, nm±M A§H$ dmbo 1 n«íZ _§o VWm N>: A§H$ 
dmbo 1 n«íZ _§o {dH$ën CnbãY h¢ & Eogo àíZm| _|o AmnH$mo Ho$db EH$ {dH$ën H$m hr CÎma 
XoZm h¡ & 

General Instructions :  

(i) This question paper contains five Sections : A, B, C, D and E. 

(ii) Section A contains questions 1 to 8 carrying one mark each. Answers to 

these questions may be given in one word or a sentence. 

(iii) Section B contains questions 9 to 13 carrying three marks each. Answers 

to these questions may be given in 50 – 75 words. 

(iv) Section C contains questions 14 to 19 carrying four marks each. Answers 

to these questions may be given in about 120 words. 

(v) Section D contains questions 20 to 22 carrying five marks each. Answers 

to these questions may be given in about 150 words. 

(vi) Section E contains questions 23 to 25 carrying six marks each. Answers to 

these questions may be given in about 200 words. 

(vii) There is no over-all-choice in the question paper, however an internal 

choice has been provided in 3 questions of one mark, 2 questions of three 

marks, 2 questions of four marks, 1 question of five marks and 1 question 

of six marks. You have to attempt only one of the choices in such questions. 



     

 66/1/1 3 P.T.O. 

IÊS> A 
SECTION A 

 

1. H$m`m©Ë_H$ T>m±Mo H$m AW© ~VmBE &   1 

Give the meaning of functional structure.        

 

2. "à~ÝY Ho$ {gÕmÝVm|' Ed§ "à~ÝY H$s VH$ZrH$m|' _| AÝV^}X H$s{OE &   1 

   AWdm 

 "g_` AÜ``Z' Ed§ "J{V AÜ``Z' _| AÝV^}X> H$s{OE &  1  

Distinguish between ‘Principles of Management’ and ‘Techniques of 

Management’.  

   OR 

Distinguish between ‘Time study’ and ‘Motion study’.  

 

3. Cg à{ejU H$s {d{Y H$m Zm_ ~VmBE {Og_| à{ejw EH$ Hw$eb (_mñQ>a) H$m`©H$Vm© Ho$ 
_mJ©Xe©Z _| H$m_ H$aVm h¡ &   1 

   AWdm 

 g§àofU H$s Cg ~mYm Ho$ àH$ma H$m Zm_ ~VmBE Omo g§Xoe H$s eãXm| AWdm {dMmam| _| 

EÝH$moqS>J d {S>H$moqS>J H$s à{H«$`m _| AmZo dmbr g_ñ`mAm| Am¡a éH$mdQ>m| H$mo g§X{^©V H$aVr 

h¡ &  1  

Name the method of training in which the trainee works under the 

guidance of a master worker.   

   OR 

Name the type of barrier of communication which refers to problems and 

obstructions in the process of encoding and decoding of message into 

words or impressions.   
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4. "~«m§qS>J' go Š`m A{^àm` h¡ ?   1 

   AWdm 

 "_yë`-{ZYm©aU' go Š`m A{^àm` h¡ ?    1  

What is meant by ‘Branding’ ? 

   OR 

What is meant by ‘Pricing’ ?   

 

5. AM©Zm ewÕ emH$mhmar h¡ & dh EH$ bmoH${à` ImÚ ûm¥§Ibm H$s XþH$mZ _| JB© Am¡a n¡H$ H$s 

hþB© emH$mhmar {~a`mZr H$s _m±J H$s & bo{H$Z ImZo Ho$ g_` Cgo nVm Mbm {H$ Bg_| Hw$N> 

_m±gmhmar gm_J«r Wr & Z Vmo {dkmnZ go Am¡a Z hr CËnmX n¡Ho$µO na bo~b go nVm Mbm {H$ 

CËnmX _| _m±gmhmar gm_J«r Wr & Cg Cn^moº$m A{YH$ma H$m Zm_ ~VmBE {OgHo$ AÝVJ©V 

Cn^moº$m g§ajU A{Y{Z`_, 1986 Ho$ àmdYmZm| Ho$ AZwgma AM©Zm _wAmdµOo H$m Xmdm H$a 

gH$Vr h¡ &      1 

Archana is a pure vegetarian. She went to a popular food chain shop and 

asked for a packaged ‘Veg-Biryani’. While eating the same she noticed 

that it had some non-vegetarian content. Neither the advertisement, nor 

the label on the package showed that the product had non-vegetarian 

content. Name the consumer right under which Archana can claim for 

compensation as per the provisions of Consumer Protection Act, 1986.     

 

6. ‘VH$ZrH$s CËWmZ’ g§JR>Z H$s EH$ àH$ma H$s ny±Or Amdí`H$Vm H$mo à^m{dV H$aVm h¡ & 

Cn`w©º$ H$WZ Ho$ g§X^© _| à^m{dV ny±Or Ho$ àH$ma H$mo nhMm{ZE &  1 

‘Technological Upgradation’ affects one of the types of capital 

requirement of an organisation. Identify the type of capital affected with 

reference to the above statement.   



     

 66/1/1 5 P.T.O. 

7. amO Am¡a [a`m {b`mo BÝ\$moH$m°_ Ho$ AbJ-AbJ {d^mJm| _| H$m_ H$aVo h¢ & EH$ {XZ Xmonha 
Ho$ ^moOZ Ho$ g_` [a`m Zo amO go H$hm {H$ _§Xr Ho$ H$maU H$B© H$_©Mm[a`m| H$s g§JR>Z go 
N>±Q>Zr hmoZo dmbr h¡ &  

 amO VWm [a`m Ho$ _Ü` hþE g§àofU Ho$ àH$ma H$m Zm_ ~VmBE &   1 

Raj and Riya are working in different departments of Leo Infocom. One 

day at lunch time Riya told Raj that due to recession many people are 

going to be retrenched soon from the organisation.  

Name the type of communication that took place between Raj and Riya.  

8. amO Am°Q>mo {b{_Q>oS> _moQ>a gmB{H$b H$m {Z_m©U H$aZo _| g§b½Z Wr & BgH$m XrK©H$mbrZ CÔoí` 
à{V df© {dH«$` _| d¥{Õ H$aHo$ ~mµOma na H$ãµOm H$aZm Wm & BgHo$ {bE BgZo à{V`mo{J`m| H$s 
_yë` Zr{V H$m {díbofU {H$`m & BgHo$ Bg CÔoí` H$s àm{ßV Ho$ {bE BgZo àË`oH$ _moQ>a 
gmB{H$b H$s IarX na < 3,000 H$s Ny>Q> VWm _wâV ~r_m àñVwV H$aZo H$m {ZU©̀  {b`m & 
Bggo J«mhH$ AmH${f©V hþE Am¡a {dH«$` _| d¥{Õ hþB© &  

 amO Am°Q>mo {b{_Q>oS> Ûmam AnZmE JE `moOZm Ho$ àH$ma H$mo nhMm{ZE &   1 

Raj Auto Ltd. was engaged in manufacturing motor cycles. Its long term 

objective was to capture the market by increasing sales every year. For 

this it analysed the pricing policy of the competitors. To achive this 

objective it decided to offer a discount of < 3,000 and free insurance on 

purchase of every motor cycle. This attracted the customers and the sales 

increased.  

Identify the type of plan being followed by Raj Auto Ltd.  

 

IÊS> ~ 
SECTION B 

9. {Z`moOZ H$s {H$Ýht VrZ gr_mAm| H$m C„oI H$s{OE &   3 

  AWdm 

 g§JR>Z Ho$ _hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$m C„oI H$s{OE &  3  

State any three limitations of Planning. 

OR 

State any three points of importance of Organising.  
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10. _`§H$, Omo EH$ H§$nZr H$m {ZXoeH$ h¡, Zo AnZo EH$ dñÌ H$maImZo H$s ~oH$ma gm_J«r H$m 

Cn`moJ H$aHo$ ^adm {Ibm¡Zo ~ZmZo H$s `moOZm ~ZmB© & CgZo {ZU©` {b`m {H$ `h {d{Z_m©U 

BH$mB© J«m_rU joÌ _| ñWm{nV H$s OmEJr Vm{H$ J«m_rU joÌm| _| ahZo dmbo bmoJm| H$mo Zm¡H$ar Ho$ 

Adga {_b gH|$ & BgHo$ {bE CgZo Aa~mµO, H¥${V, bVm Am¡a [a{VH$ H$m H«$_e: {~H«$s, 

boIm, H«$` Ed§ àMma {d^mJ Ho$ à_wIm| Ho$ ê$n _| M`Z {H$`m & do {Xì`m§J Wo, bo{H$Z 

~w{Õ_mZ Am¡a {S>OmBqZJ _| aMZmË_H$ Wo &  

 {d{^Þ {d^mJm| Ho$ à_wIm| H$m M`Z H$aZo Ho$ níMmV² _`§H$ Ûmam {Z ẁ{º$H$aU à{H«$`m _| {bE 

OmZo dmbo AJbo VrZ MaUm| H$m C„oI H$s{OE  &  3 

Mayank, the director of a company, is planning to manufacture stuffed 

toys for utilising waste material of one of his garments factories. He 

decided that this manufacturing unit will be set up in a rural area, so 

that people living in rural areas can have job opportunities. For this he 

selected Arbaaz, Kriti, Lata and Ritik as heads of Sales, Accounts, 

Purchase and Production departments respectively. They were differently 

abled but intelligent and creative persons in designing. 

State the next three steps Mayank has to follow in the staffing process 

after selecting heads of different departments.   

11. eo`a gyMH$m§H$ eo`a ~mµOma _| à{V^y{V`m| H$s H$s_Vm| H$s Mmb H$mo _mnVm h¡ & eo`a 

gyMH$m§H$, eo`am| H$s H$s_Vm| _| {XZ-à{V{XZ Ho$ CVma-M‹T>md H$m o Xem©Vm h¡ Am¡a à{V^y{V`m| Ho$ 

~mµOma ì`dhma Ho$ _mnXÊS> Ho$ ê$n _| OmZm OmVm h¡ &  

 Cn`w©º$ H$WZ Ho$ àH$me _| eo`a ~mµOma Ho$ {H$Ýht VrZ H$m`m] H$m C„oI H$s{OE &  3 

   AWdm 

 à{V^y{V ~mµOma Ho$ ñdñW Am¡a AZwem{gV {dH$mg Ho$ {bE Ed§ {ZdoeH$m| Ho$ g§ajU hoVw 

^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© H$s ñWmnZm H$s JB© &  

 Cn`w©º$ H$WZ Ho$ àH$me _| ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© Ho$ {H$Ýht VrZ {Z`m_H$ H$m`m] 

H$m C„oI H$s{OE &  3 
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Stock index measures the movement of prices of securities at a stock 

exchange. Stock index reflects the day-to-day fluctuations in stock prices 

and are known as barometers of market behaviour of securities.  

In the light of this statement, state any three functions of stock exchange.   
                                   OR 

To promote orderly and healthy growth of securities market and 

protection of investors, Securities and Exchange Board of India was set 

up.  

In the light of the given statement, state any three regulatory functions 

of the Securities and Exchange Board of India.    

12. {dHo$ÝÐrH$aU Ho$ _hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$mo g_PmBE &   3 

Explain any three points of importance of decentralisation.  

13. gZâb¡J Am`aZ {b{_Q>oS> ^maV _| AnZo g§`§Ì _| BñnmV H$m CËnmXZ H$a ahr h¡ & `h AnZo 
BñnmV H$s ~‹T>r hþB© _m±J H$m bm^ CR>m ahr h¡ Š`m|{H$ Xoe H$s Am{W©H$ {dH$mg Xa 8% Ho$ 
bJ^J h¡ & ~‹T>r hþB© _m±J H$m \$m`Xm CR>mZo Ho$ {bE BgZo EH$ ZE g§`§Ì H$mo bJmZo H$s 
`moOZm ~ZmB© & `h AZw_mZ bJm`m J`m {H$ ZE g§`§Ì H$mo bJmZo Ho$ {bE bJ^J  
< 4,000 H$amo‹S> Ed§ AÝ` ì``m| Ho$ {bE bJ^J < 600 H$amo‹S> H$s Amdí`H$Vm hmoJr &  

 Cn`ww©º$ H$mof H$mo EH${ÌV H$aZo Ho$ {bE {H$Z òmoVm| H$m Cn`moJ {H$`m OmE VWm {d{^Þ òmoVm| 
go {H$g _mÌm _| EH${ÌV {H$`m OmE `h {dMmaUr` Wm &   3 

(H$) Cn`w©º$ d{U©V {dMmaUr` AdYmaUm H$mo nhMm{ZE Ed§ BgH$m AW© Xr{OE &  

(I) Eogo {H$Ýht Xmo H$maUm| H$mo g_PmBE Omo H$ånZr H$s Cn`w©º$ (H$) _| nhMmZr JB© 
AdYmaUm H$mo à^m{dV H$aVo h¢ &  

Sunflag Iron Ltd. is manufacturing steel at its plant in India. It is 

enjoying increased demand for its steel as economic growth of the country 

is about 8%. It is planning to set up a new plant to avail the benefits of 

increased demand. It is estimated that it will require about < 4,000 crore 

for setting up of plant and about < 600 crore for other expenses to start 

the new plant.  

To collect the above mentioned funds, the sources to be used and the 

quantity to be collected from different sources had to be considered.  

(a) Identify the above discussed concept and give its meaning.  

(b) Explain any two factors that affect the concept identified in  

(a) above.        
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IÊS> g 
SECTION C 

14. ‘EŠgà og Qy>g© {b{_Q>oS>’ EH$ Q´>¡db EO|gr h¡, Omo H$_reZ Ho$ AmYma na hdmB© {Q>H$Q> ~wH$ 
H$aVr h¡ & hdmB© AÈ>o Ho$ AmajU H$mC§Q>a go J«mhH$m| H$mo {Q>H$Q> {dV[aV H$aZo _| EŠgà og Qy>g© 

H$mo Xmo {XZ bJVo h¢ & {nN>bo EH$ gmb _| CgHo$ ì`mnma _| H$m\$s H$_r AmB© h¡ Š`m|{H$ 

A{YH$Va Cn^moº$m AÝ` Q´>¡db EO|gr ‘{edm Qy>g© EÊS> Q´>¡dëg>’ H$s Amoa Mbo JE h¢, Omo 
AmYo KÊQ>o _| B§Q>aZoQ> Ûmam {Q>H$Q> Xo XoVr h¡ &   4 

(H$) ‘EŠgàog Qy>g© {b{_Q>oS>’ Ûmam ì`mdgm{`H$ n`m©daU Ho$ {Og Am`m_ H$s AZXoIr H$s 

Om ahr h¡ CgH$m Zm_ Xr{OE VWm Cgo g_PmBE &  

(I) Cn`w©º$ (H$) _| nhMmZo JE Am`m_ Ho$ A{V[aº$ ì`mdgm{`H$ n`m©daU Ho$ {H$gr 

AÝ` Am`m_ H$mo g_PmBE &    
‘Express Tours Ltd.’ is a travel agency which books air tickets on 

commission basis. It takes two days for Express Tours to get the tickets 

from airport reservation counter and deliver the same to customers. 

During the last one year, there has been drastic decrease in its business 

as most of the customers have shifted to another travel agency, ‘Shiva 

Tours and Travels’, which provides tickets within half-an-hour through 

internet.  

(a) Name and explain the dimension of business environment that is 

being overlooked by ‘Express Tours Ltd.’. 

(b) Explain another dimension of business environment other than 

that identified in (a) above.   

    

15. àmW{_H$ ~mµOma _| ‘{ddaU n{ÌH$m Ho$ _mÜ`_ go àñVmd’ VWm ‘{ZOr {Z`moOZ’ H$m ny±Or Ho$ 
ZE {ZJ©_Z H$s {d{Y`m| Ho$ ê$n _| dU©Z H$s{OE &  4 

   AWdm 

 ‘Ðì` ~mµOma ànÌ’ VWm ‘erK«md{Y Ðì`’ H$m _wÐm ~mµOma Ho$ ànÌm| Ho$ ê$n _| dU©Z H$s{OE &  4 

Describe ‘Offer through Prospectus’ and ‘Private Placement’ as methods 

of floatation of new issues in Primary market.  

                                   OR 

Describe ‘Treasury Bill’ and ‘Call money’ as money market instruments.  
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16. Am±Mb Zo ‘H$mOb _erZar àmBdoQ> {b{_Q>oS>’ go < 3,000 _| EH$ \y$S> àmogoqgJ _erZ  
IarXr & CgZo nm`m {H$ _erZ R>rH$ H$m_ Zht H$a ahr Wr & H$B© {eH$m`V| H$aZo na ^r 
H$mOb _erZar àmBdoQ> {b{_Q>oS> Ûmam Xmof R>rH$ Zht {H$`m J`m &    4  

(H$) Cg Cn^moº$m A{YH$ma H$s nhMmZ H$s{OE {OgH$m C„§KZ H$mOb _erZar àmBdoQ> 
{b{_Q>oS> Ûmam {H$`m J`m &  

(I) Cg Cn ẁº$ \$moa_ H$m gwPmd Xr{OE Ohm± Am±Mb AnZr {eH$m`V XO© H$am gH$Vr  
h¡ &  

(J) `{X dh Cn ẁº$ \$moa_ Ho$ AmXoe go g§VwîQ> Zht h¡, Vmo Š`m dh gwàr_ H$moQ>© _| 
Anrb H$a gH$Vr h¡ ? AnZo CÎma Ho$ g_W©Z _| H$maU Xr{OE &   4 

Anchal purchased a food processing machine for < 3,000 from ‘Kajal 

Machinery Pvt. Ltd.’ She found that the machine was not working 

properly. Despite many complaints, the defect was not rectified by Kajal 

Machinery Pvt. Ltd.  

(a) Identify the consumer right that has been violated by Kajal 

Machinery Pvt. Ltd.  

(b) Suggest the appropriate forum where Anchal can file her 

complaint.  

(c) Can she appeal to the Supreme Court if she is not satisfied with 

the order of the appropriate forum ? Give reason in support of your 

answer.  

   

17. "{dnUZ' Am¡a "{dH«$`' _| {H$Ýht Mma AmYmam| na AÝV^}X H$s{OE &  4 

AWdm 

 {dnUZ H$s "CËnmX AdYmaUm' Ed§ "{dnUZ AdYmaUm' _| {ZåZ AmYma na AÝV^}X  
H$s{OE :   4 

(H$) àma§^ {~ÝXþ 

(I) _w»` Ho$ÝÐ-{~ÝXþ 

(J) gmYZ 

(K) g_m{ßV  
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Differentiate between ‘marketing’ and ‘selling’ on any four basis.   

OR 

Differentiate between ‘Production concept’ and ‘Marketing concept’ of 

marketing on the basis of  

(a) Starting point 

(b) Main focus 

(c) Means  

(d) Ends   

18. ‘d_m© Ho${_H$ëg àmBdoQ> {b{_Q>oS>’ Ho$ à~ÝY {ZXoeH$ Zo g^r {d^mJr` à~ÝYH$m| Ho$ gmW 
~¡R>H$ H$s & à~ÝY {ZXoeH$ Zo H$hm {H$ dV©_mZ H$m`© H$mo Hw$ebVmnyd©H$ H$aZo Ho$ A{V[aº$ 
CÝh| ^{dî` _| Am¡a A{YH$ {µOå_oXmar H$m {Zdm©h H$aZo _| gj_ ~ZZm h¡ Š`m|{H$ H$ånZr 
AnZr {dÚ_mZ CËnmX n§{º$ _| EH$ Am¡a CËnmX Omo‹S>Zo Om ahr h¡ & Bg CÔoí` H$s àm{ßV Ho$ 
{bE CgZo g^r {d^mJr` à_wIm| go gwPmd Am_§{ÌV {H$E & à~§Y {ZXoeH$ Zo àmßV gwPmdm| 
Ho$ AmYma na EH$ `moOZm V¡`ma H$s & g^r {d^mJr` à~§YH$m| Zo `moOZm H$m nmbZ {H$`m &   4 

(H$) Cn`w©º$ AZwÀN>oX _| g§X{^©V ZoV¥Ëd H$s e¡br H$s nhMmZ H$s{OE VWm BgH$m AW© 
Xr{OE &  

(I) ZoV¥Ëd H$s AÝ` Xmo e¡{b`m| H$mo g_PmBE &   

 

The Managing Director of ‘Verma Chemicals Pvt. Ltd.’ held a meeting of 

all the departmental managers. In the meeting, the managing director 

said that besides doing their current work efficiently, they also had to 

make themselves capable of shouldering more responsibility in future as 

the company is going to add an additional product to its existing product 

line. For the realisation of this objective he invited suggestions from all 

departmental heads. The Managing Director proposed a plan on the basis 

of the suggestions received. All the departmental heads carried out the 

plan.  

(a) Identify and give the meaning of the style of leadership referred in 

the above para.  

(b) Explain the other two styles of leadership.   
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19. ‘_mBH$mo Am°Q>mo_mo~mBëg {b{_Q>oS>’ H$ma {Z_m©Vm H$ån{Z`m| Ho$ {bE Am°Q>mo nmQ²>©g Ho$ {Z_m©U _| 
bJr h¡ & `h EH$ ~‹S>r gmI dmbr H$ånZr h¡ & A~ `h g§`§Ì Am¡a _erZar _| {Zdoe H$aHo$ 
AnZo ì`dgm` H$m {dñVma H$aZm MmhVr h¡ & BgHo$ {bE Bgo XrK©H$m{bH$ {dÎm H$s 
Amdí`H$Vm h¡ & H$ånZr Ho$ {dÎm à~ÝYH$, Ae©, Zo H$ånZr Ho$ _w»` H$m`©H$mar A{YH$mar 
H$mo g_Vm A§em| Ho$ {ZJ©_Z Ûmam H$mof OwQ>mZo H$s gbmh Xr & BgHo$ {bE AË`m{YH$ {ZJ©_Z 
bmJV H$s Amdí`H$Vm h¡ & {ZJ©_Z bmJV Ho$ ì``m| H$mo nyam H$aZo Ho$ {bE H$ånZr Zo _wÐm 
~mµOma H$m ghmam {b`m &   4 
(H$) _wÐm ~mµOma Ho$ Cg ànÌ H$m Zm_ Xr{OE {Ogo H$ånZr {ZJ©_Z bmJV H$mo nyam H$aZo 

Ho$ {bE Cn`moJ H$a gH$Vr h¡ &  
(I) _wÐm ~mµOma Ed§ ny±Or ~mµOma _| {H$Ýht VrZ AmYmam| na AÝV^}X H$s{OE &   

‘MICO Automobiles Ltd.’ is engaged in manufacturing of auto parts for 

car manufacturing companies. The company enjoys good 

creditworthiness. It now wants to expand its business by investing in new 

plant and machinery. For this it requires long terms finance. Arsh, the 

Finance Manager of the company advised the CEO of the company to 

raise funds by issuing equity shares. It requires huge floatation cost. To 

meet the expenses of floatation cost the company decided to tap the 

money market.  

(a) Name the money market instrument the company can use for 

meeting the floatation cost.  

(b) Differentiate between ‘money market’ and ‘capital market’ on any 

three basis.    

IÊS> X 

SECTION D 

20. {ZåZ{b{IV pñW{V`m| _| {dnUZH$Vm© Ûmam Cn`moJ H$s OmZo dmbr {dH«$` g§dY©Z VH$ZrH$m| 
H$s nhMmZ H$aVo hþE CZH$m C„oI H$s{OE &  15=5 

(H$) < 20,000 H$s H«$` na < 5,000 H$m _wâV AdH$me n¡Ho$O &  

(I) EH$ _moQ>a gmB{H$b Ho$ H«$` na < 1,60,000 H$m ^wJVmZ, < 40,000 VwaÝV VWm 
eof am{e H$m ŵJVmZ < 6,000 àË`oH$ H$s 20 g_mZ {H$ñVm| _| &  

(J) ZhmZo Ho$ gm~wZ H$s {Q>{H$`m _| 30 J«m_ A{V[aº$ gm~wZ &  

(K) EH$ ‘nmonmo’ _mo~mBb \$moZ Ho$ gmW 4 GB _¡_moar H$mS>© _wâV &  

(L>) BpÊS>`Z Am°`b H$m°nm}aoeZ Ho$ noQ́>mob n§nm| go < 2,500 Ho$ noQ´>mob Ho$ H«$` na H$ma H$m 
bH$s S´>m° Hy$nZ &       
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Identify and state the techniques of sales promotion used by the 

marketer in the following cases :  

(a) A free holiday package of < 5,000 on purchase of goods worth  

< 20,000.  

(b) Payment of < 1,60,000 for the purchase of a bike can be made,  

< 40,000 immediately and balance in 20 equal instalments of  

< 6000 each.  

(c) 30 grams extra soap in a cake of bathing soap.     

(d) Get 4 GB memory card free with a ‘Popo’ mobile phone.  

(e) Lucky draw coupon for a car on purchase of petrol < 2,500 from 

Indian Oil Corporation petrol pumps.    

21. ì`dgm` Am¡a CÚmoJ na gaH$mar Zr{V _| ~Xbmd Ho$ {H$Ýht nm±M à^mdm| H$m C„oI H$s{OE & 5 

  AWdm 

 à~ÝYZ Ho$ _hÎd na à^md S>mbZo dmbo {H$Ýht nm±M {~ÝXþAm| H$m C„oI H$s{OE &   5  

State any five impacts of government policy changes on Business and 

Industry.  

OR 

State any five points that highlight the importance of ‘Management’.   

22. ‘^y{_H$m {b{_Q>oS>’ Ho$ àË`oH$ H$_©Mmar H$mo amoOJma H$s eVm] Ho$ AZwgma à{V{XZ 10  _oOm| H$m 

{Z_m©U H$aZm Wm & Hw$N> H$_©Mm[a`m| H$mo N>mo‹S>H$a {OÝhm|Zo 4  6 _oOm| H$m {Z_m©U à{V{XZ 

{H$`m, g^r H$_©Mm[a`m| Zo H${WV bú` H$mo àmßV {H$`m & H$_©Mm[a`m| Ho$ H$m ©̀H$bmnm| H$s 

{ZJamZr Ho$ {bE à~ÝYZ Zo H$maImZo _| gr.gr.Q>r.dr. bJmZo H$m {ZU©` {b`m &      5 

(H$) Cn`w©º$ _| M{M©V à~ÝYH$s` H$m`© H$s nhMmZ H$s{OE &  

(I) Cn`w©º$ (H$) _| nhMmZ {H$E JE à~ÝYH$s` H$m`© H$s à{H«$`m Ho$ MaUm| H$mo  
g_PmBE & 
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Each employee of ‘Bhoomika Ltd.’ should manufacture 10 tables per day 

as per the terms of employment. All the employees met the said target 

except a few who manufactured between 4 – 6 tables per day. The 

management look a decision to install Closed Circuit Television (CCTV’s) 

in the factory for monitoring the activities of the employees.  

(a) Identify the managerial function discussed above.  

(b) Explain the steps in the process of the function identified in (a) 

above.   

IÊS> ` 

SECTION E 

23. {Z`moOZ H$s {H$Ýht Mma {deofVmAm| H$mo g_PmBE &    6  

  AWdm 

 à~ÝY Ho$ g§JR>Z H$m`© H$s à{H«$`m Ho$ MaUm| H$mo g_PmBE &  6  
Explain any four characteristics of planning.     

    OR 

Explain the steps in the process of organising function of management.  

24. _mohZ, AemoH$m {b{_Q>oS> _| CnmÜ`j Ho$ ê$n _| H$m`© H$a ahm h¡ & dh EH$ n¥WH²$ VWm 

{d{eîQ> H$m`© H$aVm h¡, {Og_| _mZd g§~§Ym| Ho$ {d{^Þ nhby h¢ & CgH$m H$m`© g§JR>Z H$aZo 

go {ZH$Q> go Ow‹S>m hþAm h¡ Š`m|{H$ g§aMZm VWm nX {ZU©` Ho$ níMmV², BZ nXm| na H$m`© H$aZo 

Ho$ {bE ì`{º$`m| H$s Amdí`H$Vm hmoVr h¡ & CgHo$ H$m ©̀ H$mo à~§Y Ho$ EH$ Om{VJV H$m`© Ho$ 

ê$n _| XoIm OmVm h¡ & O~ dh AnZo H$V©ì`m| H$m {Zd©hZ H$aVm h¡, CgH$s ŷ{_H$m Wmo ‹S>r 

gr{_V hmo OmVr h¡ &    6 

(H$) AemoH$m {b{_Q>oS> Ho$ CnmÜ`j Ho$ ê$n _| _mohZ Ûmam {Zînm{XV H$m`© H$s nhMmZ 

H$s{OE VWm BgH$m AW© g_PmBE &    

(I) _mohZ Ûmam {Zînm{XV H$m`© go g§JR>Z H$mo ~hþV go bm^ hmoVo h¢ & Eogo {H$Ýht nm±M 

bm^m | H$m C„oI H$s{OE &   
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Mohan is working as a vice-president in Ashoka Ltd. He performs a 

separate and specialised function having many aspects of human 

relations. His job is closely linked with organising since after the 

structure and positions have been decided, people are required to work in 

these positions. His function is seen as a generic function of management. 

When he performs his duties, his role is slightly limited.   

(a) Identify and explain the meaning of the function being performed 

by Mohan as the vice-president of Ashoka Ltd.   

(b) The function performed by Mohan benefits the organisation in 

many ways. State any five such benefits.  

25.  \o$`m°b VWm Q>oba, XmoZm| Zo à~§Y kmZ _| AË`{YH$ `moJXmZ {X`m h¡ Omo à~§YH$m| Ho$ {bE 

AmJo H$m`© H$aZo H$m AmYma ~Z J`m h¡ & Q>oba H$m gmoMZm Wm {H$ H$m`© H$m d¡km{ZH$ 

{díbofU H$aZo go, Bgo H$aZo H$m ‘EH$ loîR> VarH$m’ nVm bJmZm g§^d hmoJm & Cgo, CgH$s 

g_` VWm J{V AÜ``Z Ed§ H$m`m©Ë_H$ \$moa_¡Z{en Ho$ H$maU AË`{YH$ `mX {H$`m OmVm  

h¡ & CgZo H$hm {H$, EH$ à{e{jV VWm `mo½` à~§Y VWm gh`moJr Ed§ ZdàdV©ZmË_H$ 

H$m`©~b Ho$ _Ü` gmPoXmar go loîR> n[aUm_ àmßV hm|Jo & \o$`m°b Zo g_Pm`m {H$ EH$ à~§YH$ 

H$mo Š`m H$m`© H$aZm Mm{hE VWm Bg H$m`© H$mo H$aZo Ho$ {bE {H$Z {gÕmÝVm| H$m nmbZ H$aZm 

Mm{hE &    

 Cn`w©º$ dU©Z Ho$ AmYma na Q>oba VWm \o$`m°b Ho$ `moJXmZ _| {ZåZ AmYmam| na AÝV^}X 

H$s{OE :  6 

(H$) n[aàoú`  

(I) AmXoe H$s EH$Vm 

(J) H|$Ð (\$moH$g) 

(K) A{^ì`{º$ 

(L>) à`moOZr`Vm 

(M) aMZm H$m AmYma 
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Fayol and Taylor both have contributed immensely to the knowledge of 

management, which has become a basis for further practice by managers. 

Taylor thought that by scientifically analysing work it would be possible 

to find ‘one best way’ to do it. He is most remembered for his time and 

motion studies and functional foremanship. He said that the best result 

would come from the partnership between a trained and qualified 

management and a cooperative and innovative workforce. Fayol 

explained what amounts to a manager’s work and what principles should 

be followed in doing this work.    

In the light of the above discussion, differentiate between the 

contribution of Taylor and Fayol on the following basis :  

(a) Perspective 

(b) Unity of command 

(c) Focus 

(d) Expression  

(e) Applicability  

(f) Basis of formation  

 


